

ASSIGNMENT DATE

NAME: NICHOLAS CHRISTOPHER JOY.

DEPARTMENT: CHEMICAL ENGINEERING.

COURSE CODE: CHE 531.

COURSE TITLE: PROCESS DYNAMICS & CONTROL I.

MATRIX NO: 14/2020/021.

DATE: 8TH OCTOBER, 2019.

Question.

$y(0) = 5$ and $y'(0) = 7$

Solve

$$\frac{d^2 y}{dt^2} - 3 \frac{dy}{dt} + 2y = 2e^{3t}$$

ANSWER

$$\frac{d^2 y}{dt^2} - 3 \frac{dy}{dt} + 2y = 2e^{3t} \quad \text{--- (1)}$$

Recall that;

$$\frac{d^2 y}{dt^2} = s^2 y(s) - sy(0) - y'(0) \quad \text{--- (2)}$$

$$\frac{dy}{dt} = sy(s) - y(0) \quad \text{--- (3)}$$

$$2e^{3t} = \frac{2}{s-3} \quad \text{--- (4)}$$

putting equation (2), (3) & (4) into (1), we have;

$$s^2 y(s) - sy(0) - y'(0) - 3(sy(s) - y(0)) + 2y(s) = \frac{2}{s-3}$$

$$s^2 y(s) - sy(0) - y'(0) - 3sy(s) + 3y(0) + 2y(s) = \frac{2}{s-3}$$

from the question above, it was given that

$$y(0) = 5 \quad \& \quad y'(0) = 7$$

Input the above into eqn (2)

$$s^2 y(s) - s(5) - 7 - 3sy(s) + 3(5) + 2y(s) = \frac{2}{s-3}$$

$$s^2 y(s) - 5s - 7 - 3sy(s) + 15 + 2y(s) = \frac{2}{s-3}$$

$$s^2 y(s) - 5s - 3s y(s) + 2y(s) + 8 = \frac{2}{s-3}$$

$$s^2 y(s) - 3s y(s) + 2y(s) = \frac{2}{s-3} + 5s - 8$$

by factoring

$$y(s) [s^2 - 3s + 2] = \frac{2}{s-3} + 5s - 8$$

$$y(s) [s^2 - s - 2s + 2] = \frac{2}{s-3} + 5s - 8$$

$$y(s) [(s-1)(s-2)] = \frac{2}{s-3} + 5s - 8$$

divide through by $(s-1)(s-2)$

$$\therefore y(s) = \left[\frac{2}{s-3} + 5s - 8 \right] \div [(s-1)(s-2)]$$

$$y(s) = \left[\frac{2 + 5s(s-3) - 8(s-3)}{s-3} \right] \div [(s-1)(s-2)]$$

$$y(s) = \left[\frac{2 + 5s^2 - 15s - 8s + 24}{s-3} \right] \div [(s-1)(s-2)]$$

$$y(s) = \frac{5s^2 - 23s + 26}{s-3} \times \frac{1}{(s-1)(s-2)}$$

$$y(s) = \frac{5s^2 - 23s + 26}{(s-1)(s-2)(s-3)}$$

$$y(s) = \frac{A}{(s-1)} + \frac{B}{(s-2)} + \frac{C}{(s-3)}$$

$$y(s) = \frac{A(s-2)(s-3) + B(s-1)(s-3) + C(s-1)(s-2)}{(s-1)(s-2)(s-3)}$$

$$y(s) = \frac{5s^2 - 23s + 26}{(s-1)(s-2)(s-3)} = \frac{A(s-2)(s-3) + B(s-1)(s-3) + C(s-1)(s-2)}{(s-1)(s-2)(s-3)}$$

$$\therefore 5s^2 - 23s + 26 = A(s-2)(s-3) + B(s-1)(s-3) + C(s-1)(s-2)$$

let $s = 1$

$$5(1)^2 - 23(1) + 26 = A(1-2)(1-3) + B(1-1)(1-3) + C(1-1)(1-2)$$

$$5(1)^2 - 23(1) + 26 = A(-1)(-2) + B(0)(-2) + C(0)(-1)$$

$$5 - 23 + 26 = 2A$$

$$2A = 8$$

$$A = \frac{8}{2} = 4$$

$$A = 4$$

when $s=2$

$$0(2)^2 - 23(2) + 26 = A(2-2)(2-3) + B(2-1)(2-3) + C(2-1)(2-2)$$

$$20 - 46 + 26 = A(0)(-1) + B(1)(-1) + C(1)(0)$$

$$0 = 0 - B + B$$

$$\therefore B = 0$$

when $s=3$

$$5(3)^2 - 23(3) + 26 = A(3-2)(3-3) + B(3-1)(3-3) + C(3-1)(3-2)$$

$$15 - 69 + 26 = A(1)(0) + B(2)(0) + C(2)(1)$$

$$2 = 2C$$

$$C = \frac{2}{2}$$

$$\therefore C = 1$$

$$\therefore A = 4, B = 0, C = 1$$

$$y(s) = \frac{5s^2 - 23s + 26}{(s-1)(s-2)(s-3)} = \frac{4}{(s-1)} - \frac{0}{(s-2)} + \frac{1}{(s-3)}$$

$$y(t) = \mathcal{L}^{-1} \left\{ y(s) \right\} = \mathcal{L}^{-1} \left\{ \frac{4}{(s-1)} - \frac{0}{(s-2)} + \frac{1}{(s-3)} \right\}$$

$$= \mathcal{L}^{-1} \left\{ \frac{4}{s-1} \right\} + \mathcal{L}^{-1} \left\{ \frac{0}{(s-2)} \right\} + \mathcal{L}^{-1} \left\{ \frac{1}{(s-3)} \right\}$$

$$y(t) = 4e^t + e^{3t}$$